= diAfloff et W+

=

4

A

F

3
ot

HSEeh AR 2 F3UE HAt

xr

or

Z

AT

CHA o

=]
(L

Z:
(=}

e

_CI>_|

|_

S
of

Y HE2EHAIU 2 HSUYO HAt

=13
=

R

o
wjr
ol
Tor
14

2t

27 2710| 2012|=

(0]

ZFARF
S

HS=of A1t AL

—
[

2tCt. O]

5

Moz

—
[

¥

5

=
(L8

1ol

=]
=1

Zi=S S0 HAf

A4)

_ZO
=l

A 2 =(

A 3 Z(8019| 581t M)

@ A2f

=X, FAAL A1 AAL

| —
[

H5H 22

AN Y F
HAZZ AT A 7

=]
(L8

=
—_

2. FAZE, A AR
3. DAIAZ} :

A= XA

_zr._._

o

EE

SH A

ol
o
H
=]
-

S} : 7|gt
A
=
AL
=

al

o
L3
[
“

A&HCI

- SCIE, SCOPUS

- SCI, SSCI,

Hested

2=

Fab & R|

=]
[

3=AE

A2 2/(n+2), SSH A=

A
(]

i

2 ™, ZXpet A 1 A Y

—
[

EoR TEXZ}

R

Fabaz

Qld
(=

A= FHYErEAS 24, =4

H

1/(n+2)

g
o4
my
X
o
o
‘*I .
ST
= i
i
~
< o
o oo
Ho <
S &
S o
7 -
iiod
m__m ol
X #o
X
=d ol
o Ho
g
X ~r
0 _’A
g o
4y
[=n

CHER|Rfe} ZA{7f
HE25tet

@
®

-~
od 3

o &r

Cf.

2HEA] =2 A 2 OA

SlOF 3F

I.

=]
[=]

Al == A go| £

Hf =
o=

mjn

=0{7F 2=0{7} o 5fi 2|

4.%t

A 4 Z(E2h)

Tod

oju

=
=

oA R

I.

__Oﬂ

of

F

H_l_
oju

Ol_
<|o

ol

<+
r

st710| A=

_z_.__._

= A

3
[

e HE=s

o

fH ==d A 712 W

1o

1

Tor

SFOf oA

I

5 Z(HAAY 7I1E)

Tod
%0
od
ol
&r
AA_._._
]}

of FSA4AF £ FAHAE 27 0|49 =

A SSCI E= =4

Tod
%o
Ol_
oju

U

=2 SCOPUS O T=A4F e AR 1H 049 =&

=
=1

|t

Qld
=

ul
of
o
T
=
AU
Hfo
G
N
KO
i
=
<
T
of
ol
]}
Nfo
o
o]
0
N
ih
o]
njo
[ ]
o o7
<0 i
o Ko
%o o
i
o}
<
< K
il
._,.AE o
i 4
— O
S m
— _..._ﬂ
N Ar
N Bl
Mz
ol <
O ~
i
S N
—~ O



